Annexure-I

| | | Annexure-I | | | | |
|------------------|---|---------------------------------|--------------------|-------------------------|---------------------------------|----------------|
| PO No # | GMR/PO/23-24/000030 | | | | Order Date : | 19/03/2024 |
| The ab | ove no must appear on all challans, invoices and all | documents relating to this I | PO. | | Quotation / PI No: | GMR-2324-0010 |
| | | | | | Quotation / PI Date : | Mail |
| | | | | | Department: | HYD D 005 Chai |
| | | | | | Department. | Point |
| To : | Krishna Office Solutions P-32,6th Main,Sector-10 Lic Quarters,Jeevan Bhima | nagar,Bengaluru-560075 | | Delivery Address : | GMR Hospita | ality Limited |
| Tel : | | | | Tel : | | |
| Fax : | | | | Fax : | | |
| Contact Person : | | | | Contact Person : | | |
| Mobile : | | | | Mobile : | | |
| Email: | | | | Email : | govind.naik@gmrhosp 30AAJCG9 | |
| GST NO TIN NO | | | | GST NO TIN NO | SUAAJCG | 9402E120 |
| PAN NO | | | | PAN NO | AAJCG | 9402E |
| We | are pleased to confirm to supply the material as per deta | ails given below. Please arrang | ge to supply as pe | r the delivery period a | nd the terms mentioned | below. |
| Sr.no | Description | SPECIFICATION | UOM | QTY | Rate | Amount |
| 1 | Cartini Fine Dicing Knife-276mm-Green | | Nos | 2 | ₹ 265.00 | ₹ 530.00 |
| 2 | Cartini Fine Dicing Knife-276mm-Red | | Nos | 2 | ₹ 265.00 | ₹ 530.00 |
| 3 | Dump Box | | Nos | 2 | ₹ 365.00 | ₹730.00 |
| 4 | First Aid Kit | | Nos | 1 | ₹ 1,260.00 | ₹ 1,260.00 |
| 5 | Hand wash dispenser | | Nos | 2 | ₹ 560.00 | ₹ 1,120.00 |
| 6 | Hard Brush (Hardy) | | Nos | 1 | ₹ 151.00 | ₹ 151.00 |
| 7 | KOT Railer | | Nos | 1 | ₹ 450.00 | ₹ 450.00 |
| 8 | Probe Thermometer (Pen Type) | | Nos | 1 | ₹ 280.00 | ₹ 280.00 |
| 9 | Sanitizer bottle 500ml with pump | | Nos | 2 | ₹ 40.50 | ₹ 81.00 |
| 10 | Spray Bottle | | Nos | 3 | ₹ 48.60 | ₹145.80 |
| 11 | Squeeze Bottle-White 36oz | | Nos | 6 | ₹ 103.50 | ₹621.00 |
| 12 | Tape Dispenser | | Nos | 1 | ₹ 150.00 | ₹ 150.00 |
| 13 | Air tight container - 1600ml | | Nos | 5 | ₹ 95.00 | ₹ 475.00 |
| 14 | Air tight container 10 ltrs | | Nos | 10 | ₹ 180.00 | ₹ 1,800.00 |
| 15 | Air tight container 25 ltrs | | Nos | 2 | ₹ 435.00 | ₹870.00 |
| 16 | Plastic Storage Container - 4ltrs | | Nos | 2 | ₹ 335.00 | ₹670.00 |
| 17 | 28mm Dispenser Pump | | Nos | 1 | ₹ 16.00 | ₹ 16.00 |
| 18 | Aluminum Lemon squeezer | | Nos | 1 | ₹ 235.00 | ₹235.00 |
| 19 | Anupam Decanter-10ltrs | | Nos | 1 | ₹ 3,260.00 | ₹ 3,260.00 |
| 20 | Saucepan Lid-24cms dia (for 5ltrs) | | Nos | 2 | ₹ 2,970.00 | ₹ 5,940.00 |
| 21 | Saucepan Lid-28cms dia (for 10.5ltrs) | | Nos | 3 | ₹ 3,985.00 | ₹ 11,955.00 |
| 22 | Bakery Knife-320mm | | Nos | 2 | ₹ 285.00 | ₹ 570.00 |
| 23 | Cartini Scissors-165mm | | Nos | 2 | ₹ 275.00 | ₹ 550.00 |
| 24 | copper Ice shaker | | Nos | 2 | ₹ 575.00 | ₹ 1,150.00 |
| 25 | Corelle Microwave Bowl | | Nos | 4 | ₹ 307.00 | ₹ 1,228.00 |
| 26 | Cutting Board-Green (340X230mm) | | Nos | 2 | ₹ 245.00 | ₹ 490.00 |
| 27 | Cutting Board-Red (340X230mm) | | Nos | 2 | ₹ 245.00 | ₹ 490.00 |
| 28 | Dredger | | Nos | 1 | ₹ 285.00 | ₹285.00 |
| 29 | Ginger Crushing Set-Large | | Nos | 1 | ₹ 665.00 | ₹665.00 |
| | | | | | | |

| | | • | | | | |
|----|--|---|-----|----|--------------------|-------------|
| 31 | Nonstick Fry Pan 240mm | | Nos | 2 | ₹ 2,115.00 | ₹ 4,230.00 |
| 32 | Nonstick Fry Pan 280 mm | | Nos | 2 | ₹ 2,304.00 | ₹ 4,608.00 |
| 33 | Oven Mitts | | Nos | 1 | ₹ 436.50 | ₹ 436.50 |
| 34 | Peg Cup | | Nos | 2 | ₹86.00 | ₹ 172.00 |
| 35 | Plastic swing bins - 80 ltrs | | Nos | 2 | ₹ 1,134.00 | ₹ 2,268.00 |
| 36 | Plastic Tea Strainer-Large (22cms) | | Nos | 5 | ₹ 697.50 | ₹ 3,487.50 |
| 37 | Polycarbonate jar with lid 1000ml | | Nos | 4 | ₹ 259.20 | ₹ 1,036.80 |
| 38 | S.S Forceps | | Nos | 1 | ₹ 193.50 | ₹ 193.50 |
| 39 | Silicon Spatula - Big | | Nos | 2 | ₹ 178.20 | ₹ 356.40 |
| 40 | Silicon spatula Green | | Nos | 2 | ₹ 178.20 | ₹ 356.40 |
| 41 | Silicon Spatula Red | | Nos | 2 | ₹ 178.20 | ₹ 356.40 |
| 42 | Squeeze Bottle-Red (12oz) | | Nos | 4 | ₹85.00 | ₹ 340.00 |
| 43 | SS canister (TD2) 700ml | | Nos | 2 | ₹ 395.00 | ₹ 790.00 |
| 44 | SS canisters (TD1) | | Nos | 5 | ₹ 265.00 | ₹ 1,325.00 |
| 45 | SS container No 13 | | Nos | 1 | ₹ 320.00 | ₹ 320.00 |
| 46 | SS Container-250gms | | Nos | 10 | ₹97.20 | ₹972.00 |
| 47 | SS Ice Scoop | | Nos | 1 | ₹ 565.00 | ₹ 565.00 |
| 48 | SS Measuring jar - 100 ml | | Nos | 3 | ₹ 256.00 | ₹768.00 |
| 49 | SS Measuring jar - 1000 ml | | Nos | 2 | ₹ 1,160.00 | ₹ 2,320.00 |
| 50 | SS Measuring jar - 2000 ml | | Nos | 2 | ₹ 1,965.00 | ₹ 3,930.00 |
| 51 | SS Measuring jar - 500 ml | | Nos | 2 | ₹ 890.00 | ₹ 1,780.00 |
| 52 | SS measuring spoon set | | Nos | 2 | ₹ 245.00 | ₹ 490.00 |
| 53 | SS Milk Ladle-25 inch | | Nos | 2 | ₹ 485.00 | ₹ 970.00 |
| 54 | SS Mug-10cms | | Nos | 2 | ₹ 175.00 | ₹ 350.00 |
| 55 | SS Oil Dispenser 500ml | | Nos | 1 | ₹ 585.00 | ₹ 585.00 |
| 56 | SS Pointed KOT Punch | | Nos | 2 | ₹ 175.50 | ₹ 351.00 |
| 57 | SS Stirrer with coin on both sides | | Nos | 2 | ₹ 220.50 | ₹ 441.00 |
| 58 | SS Tea Strainer Small | | Nos | 2 | ₹ 166.50 | ₹ 333.00 |
| 59 | SS Tongs | | Nos | 4 | ₹ 130.50 | ₹ 522.00 |
| 60 | SS UTF Funnel | | Nos | 2 | ₹ 195.00 | ₹ 390.00 |
| 61 | SS Whisk | | Nos | 2 | ₹ 595.00 | ₹ 1,190.00 |
| 62 | Subway Squeeze Bottle (16oz) | | Nos | 10 | ₹ 135.00 | ₹ 1,350.00 |
| 63 | Plastic Dustbin-Dumpo Flat Lid-240ltrs | | Nos | 2 | ₹ 4,260.00 | ₹ 8,520.00 |
| 64 | Vinod Saucepan with Lid-1.1ltr | | Nos | 2 | ₹2 <i>,</i> 860.00 | ₹ 5,720.00 |
| 65 | A4 Standy | | Nos | 2 | ₹ 775.00 | ₹ 1,550.00 |
| 66 | S.S Milk Frothing Jug 350 ml | | Nos | 2 | ₹ 685.00 | ₹ 1,370.00 |
| 67 | Aroma Diffuser 400 ml | | Nos | 1 | ₹ 1,450.00 | ₹ 1,450.00 |
| 68 | Black Caddy | | Nos | 2 | ₹ 265.00 | ₹ 530.00 |
| 69 | Bullet tag holder small | | Nos | 25 | ₹95.60 | ₹ 2,390.00 |
| 70 | Cer. Broken Plate 10 Rippled | | Nos | 8 | ₹ 295.00 | ₹ 2,360.00 |
| 71 | Anupam Decanter-5ltrs | | Nos | 1 | ₹ 2,224.00 | ₹2,224.00 |
| 72 | Foot operated sanitizer stand - MS | | Nos | 1 | ₹ 1,250.00 | ₹1,250.00 |
| 73 | Melamine Bond Platter 7.5 BLK | | Nos | 4 | ₹ 295.00 | ₹ 1,180.00 |
| 74 | Melamine Leaf Platter 11 long (S) Blk | | Nos | 3 | ₹ 335.00 | ₹ 1,005.00 |
| 75 | Melamine Scoop (L) Blk | | Nos | 4 | ₹ 195.00 | ₹780.00 |
| 76 | Melamine Slate Blk | | Nos | 6 | ₹ 580.00 | ₹ 3,480.00 |
| 77 | Pradeep Saucepan 5ltrs | | Nos | 2 | ₹ 5,390.00 | ₹ 10,780.00 |
| 78 | S.S GN Pan 1 9 x 150 mm | | Nos | 12 | ₹ 585.00 | ₹ 7,020.00 |
| | Food Tray - Black | | | 25 | ₹ 195.00 | |

| Doum ont Torms : | | | | Subtotal after discount | ₹0 | | |
|-------------------|-------------------------------|--|-----|-------------------------|-------------|------------|--|
| ERMS & CONDITIONS | | | | Freight | ₹0 | | |
| | | | | Basic Amount | ₹148,968 | | |
| | · · · | | | | | | |
| 85 | Bubble Water Can | | Nos | 4 | ₹ 235.00 | ₹940.00 | |
| 84 | Trolley tub - 5 ltrs | | Nos | 1 | 1 ₹1,287.00 | | |
| 83 | Bathla 4-Step Handy Ladder | | Nos | 1 | ₹ 5,560.00 | ₹ 5,560.00 | |
| 82 | Trolley tub - 20 Itrs | | | 1 | ₹ 1,640.00 | ₹ 1,640.00 | |
| 81 | Wood Cheese Platter 12 w-dome | | Nos | 2 | 2 ₹1,680.20 | | |
| 80 | SS Dustbin with Rotating Top | | Nos | 2 | ₹ 5,360.00 | | |

| Amount in words: | Rupees One Lakh Seventy One Thousand Fifty Nine And Fourty Five Paisa Only | | |
|------------------|--|-------------------------|--------------|
| | | GRAND TOTAL | ₹ 171,059.45 |
| | | IGST / SGST / GST @ 5% | ₹22 |
| | | IGST / SGST / GST @ 18% | ₹ 12,739 |
| Payment Terms . | | IGST / SGST / GST @ 12% | ₹ 9,331 |
| Payment Terms : | | | |

 SPECIFIC TERMS & CONDITIONS

 Delivery Time :
 25- 30 Days after receipt of the advance

For GMR Hospitality Limited.

Prepared By - Purchase Executive

Approved By

Authorized By

GENERAL TERMS & CONDITIONS:

Definitions

GOODS shall mean the materials, products or services to be purchased or to be supplied as specified in the PURCHASE ORDER and/or any part thereof.

PURCHASE ORDER shall mean the PURCHASE ORDER form, this document and any other document listed herein and shall constitute the entire agreement between the parties. SUPPLIER shall mean any person or company having a contract for the supply of GOODS to PURCHASER.

Price

The price along with other terms & conditions as mentioned in the above Purchase Order herein shall be binding to the seller.

Delivery Documents

The challan / Invoice should provide full particular of all articles with purchase order no. Obtain receivers signature and rubber stamp and attach copy of same with bill/invoices

Warranty

SUPPLIER warrants to PURCHASER and its clients that the GOODS shall comply in every respect with any specifications, drawings and other data forming part of the PURCHASE ORDER and shall be free of defective materials or workmanship and is complete without any omissions. SUPPLIER shall be fully responsible for making good immediately upon being notified by PURCHASER any omission and defects in the GOODS or any portion thereof which may appear or occur during the warranty period

SUPPLIER shall ensure that the warranty is directly extended to the PURCHASER and, at the PURCHASER's option, the PURCHASER may exercise any of the warranty herein directly against the manufacturer of the GOODS and its agents.

SUPPLIER's liability hereunder shall extend to all damages directly cause by the omissions or defects, including incidental damages such as removal, inspection, costs of return or storage. SUPPLIER shall not be liable for any indirect, remote or consequential losses.

License & Permit

If execution of the PURCHASE ORDER requires any license or other permit issued in the country of shipment and/or origin, the PURCHASE ORDER shall be conditional upon such license or other permit being available at the relevant time. SUPPLIER shall be fully responsible for obtaining the necessary license and permit.

Confidentiality

Any PURCHASE ORDER placed by the PURCHASER including all accompanying designs, drawings, specifications and information which may be treated as confidential and in particular the SUPPLIER shall not make use of the PURCHASER'S NAME or the name of any companies associated with the PURCHASER for publicity purposes without the consent of the PURCHASER.

Insurance

SUPPLIER shall effect and maintain at its own cost, all applicable insurances as required by law and to cover SUPPLIER's responsibilities and liabilities under the PURCHASE ORDER. Nothing contained herein shall serve in any way to limit or waive SUPPLIER's responsibilities and liabilities under the PURCHASE ORDER. Nothing contained herein shall serve in any way to limit or waive SUPPLIER's responsibilities and liabilities under the PURCHASE ORDER. Nothing contained herein shall serve in any way to limit or waive SUPPLIER's responsibilities and liabilities under the PURCHASE ORDER.

Safety

Where a service is being provided on property occupied by PURCHASER, SUPPLIER shall be responsible for the safety of all persons engaged on the work, and all persons who may be affected by activities of SUPPLIER and shall comply with all PURCHASER's safety regulations and procedures.

Waiver

Any waiver by PURCHASER to any breach of the PURCHASE ORDER shall not constitute a precedent nor bind the parties to any subsequent breach by SUPPLIER.

Force Majeure

Neither party shall be liable for any failure to fulfill any term of the PURCHASE ORDER if fulfillment has been delayed interfered with or prevented by force majeure. Force majeure may only be involved if the event preventing the fulfillment is due to no fault of the obligor, is not for his risk and has occurred since the obligation came into being.

Liability & Indemnity

SUPPLIER shall be responsible for and shall indemnify PURCHASER from and against all claims, proceedings, demands and causes of action in respect of any damage, loss or injury (including death) to any person or property arising out of SUPPLIER's negligence, acts or omissions, without regard to whether any negligence, act or omissions of PURCHASER contributed to such injury, death or property damage.

Payment

Payment will be effected within Thirty days (30) days after receipt of an undisputed invoice (together with supporting documents) by the PURCHASER provided always that the PURCHASER has accepted the GOODS, or as otherwise agreed and stipulated in the PURCHASE ORDER.

Change

PURCHASER reserves the right at any time to make changes in the PURCHASE ORDER or any part thereof.

No change to or modification of the items, specifications, terms, conditions and prices appearing in the PURCHASE ORDER shall be binding upon PURCHASER unless expressly agreed in writing by PURCHASER. SUPPLIER shall promptly notify PURCHASER in the event that any GOODS subject of the PURCHASE ORDER are affected by changes in drawings, specifications or design, but SUPPLIER shall not without prior written consent of PURCHASER incorporate any such changes in the order.

Acceptance

In the case of GOODS delivered by SUPPLIER not conforming with the PURCHASE ORDER whether by reason of not being of the quality or in the quantity or measurement stipulated or being unfit for the purpose for which they are required, PURCHASER shall have the right to reject such GOODS within a reasonable time of their delivery and inspection and to purchase elsewhere and to claim for any additional expense incurred without any prejudice to any other right which PURCHASER may have against SUPPLIER. The making of any prior payments by PURCHASER shall not prejudice PURCHASER's right of rejection.

Termination

In the event of any breach of any of the terms and conditions of the PURCHASE ORDER including failure to deliver by the due date, then PURCHASER without prejudice to any other rights, may terminate the PURCHASE ORDER and may return GOODS previously supplied under the PURCHASE ORDER for full credit by SUPPLIER. In the event of termination due to non-delivery or non-acceptance due to SUPPLIER's breach of the terms and conditions hereof, SUPPLIER shall undertake to reimburse all monies paid by PURCHASER prior to the date of termination including all direct costs and expenses incurred by PURCHASER arising from or in connection with the termination.

For GMR Hospitality Limited.

Prepared By - Purchase Executive

Authorised By

| | | | | | | Krishna C | ffice Solutions |
|-------|---------------------------------------|-------|------|------------------|-----|-----------|-----------------|
| SR NO | ITEM DESCRIPTION | IMAGE | UNIT | QTY. REQUIRED | GST | Rate | Amounts |
| 1 | Cartini Fine Dicing Knife-276mm-Green | | Nos | 2 | 18% | 265 | 530 |
| 2 | Cartini Fine Dicing Knife-276mm-Red | | Nos | 2 | 18% | 265 | 530 |
| 3 | Dump Box | | Nos | 2 | 18% | 365 | 730 |
| 4 | First Aid Kit | | Nos | 1 | 12% | 1260 | 1260 |
| 5 | Hand wash dispenser | | Nos | 2 | 18% | 560 | 1120 |
| 6 | Hard Brush (Hardy) | | Nos | 1 | 18% | 151 | 151 |
| 7 | KOT Railer | | Nos | 1 | 18% | 450 | 450 |
| 8 | Probe Thermometer (Pen Type) | | Nos | 1 | 18% | 280 | 280 |
| 9 | Sanitizer bottle 500ml with pump | | Nos | 2 | 18% | 40.5 | 81 |
| 10 | Spray Bottle | | Nos | 3 | 18% | 48.6 | 145.8 |
| 11 | Squeeze Bottle-White 36oz | | Nos | 6 | 18% | 103.5 | 621 |
| 12 | Tape Dispenser | | Nos | 1 | 18% | 150 | 150 |
| 13 | Air tight container - 1600ml | | Nos | 5 | 18% | 95 | 475 |
| 14 | Air tight container 10 ltrs | | Nos | 10 | 18% | 180 | 1800 |
| 15 | Air tight container 25 ltrs | | Nos | 2 | 18% | 435 | 870 |
| 16 | Plastic Storage Container - 4ltrs | | Nos | 2 | 18% | 335 | 670 |
| 17 | 28mm Dispenser Pump | | Nos | 1 | 18% | 16 | 16 |
| 18 | Aluminum Lemon squeezer | | Nos | 1 | 12% | 235 | 235 |
| 19 | Anupam Decanter-10ltrs | | Nos | 1 | 12% | 3260 | 3260 |
| 20 | Saucepan Lid-24cms dia (for 5ltrs) | | Nos | 2 | 12% | 2970 | 5940 |
| 21 | Saucepan Lid-28cms dia (for 10.5ltrs) | | Nos | 3 | 12% | 3985 | 11955 |
| 22 | Bakery Knife-320mm | | Nos | 2 | 12% | 285 | 570 |
| 23 | Cartini Scissors-165mm | | Nos | 2 | 18% | 275 | 550 |
| 24 | copper Ice shaker | | Nos | 2 | 12% | 575 | 1150 |
| 25 | Corelle Microwave Bowl | | Nos | 4 | 18% | 307 | 1228 |
| 26 | Cutting Board-Green (340X230mm) | | Nos | 2 | 18% | 245 | 490 |
| 27 | Cutting Board-Red (340X230mm) | | Nos | 2 | 18% | 245 | 490 |
| 28 | Dredger | | Nos | 1 | 18% | 285 | 285 |
| 29 | Ginger Crushing Set-Large | | Nos | 1 | 12% | 665 | 665 |
| 30 | Glass container 15 ml | | Nos | 1 | 18% | 55 | 55 |
| 31 | Nonstick Fry Pan 240mm | | Nos | 2 | 12% | 2115 | 4230 |
| 32 | Nonstick Fry Pan 280 mm | | Nos | 2 | 12% | 2304 | 4608 |
| 33 | Oven Mitts | | Nos | 1 | 5% | 436.5 | 436.5 |
| 34 | Peg Cup | | Nos | 2 | 12% | 86 | 172 |
| 35 | Plastic swing bins - 80 ltrs | | Nos | 2 | 18% | 1134 | 2268 |
| 36 | Plastic Tea Strainer-Large (22cms) | | Nos | 5 | 18% | 697.5 | 3487.5 |
| 37 | Polycarbonate jar with lid 1000ml | | Nos | 4 | 18% | 259.2 | 1036.8 |
| 38 | S.S Forceps | | Nos | 1 | 12% | 193.5 | 193.5 |
| 39 | Silicon Spatula - Big | | Nos | 2 | 18% | 178.2 | 356.4 |
| 40 | Silicon spatula Green | | Nos | 2 | 18% | 178.2 | 356.4 |
| 40 | Silicon Spatula Red | | Nos | 2 | 18% | 178.2 | 356.4 |
| 42 | Squeeze Bottle-Red (12oz) | | Nos | 4 | 18% | 85 | 340 |

| 43 | SS canister (TD2) 700ml | | Nos | 2 | 18% | 395 | 790 |
|----|--|---|--------|-------------|-----|--------|------------|
| 43 | SS canister (TD2) 700m | | Nos | 5 | 12% | 265 | 1325 |
| 44 | SS container No 13 | | Nos | 1 | 12% | 320 | 320 |
| 45 | SS Container NO 13 | | Nos | 10 | 12% | 97.2 | 972 |
| 40 | SS Ice Scoop | | Nos | 10 | 12% | 565 | 565 |
| 47 | SS Measuring jar - 100 ml | | Nos | 3 | 12% | 256 | 768 |
| 48 | SS Measuring jar - 100 ml | | Nos | 2 | 12% | 1160 | 2320 |
| 50 | SS Measuring jar - 2000 ml | | Nos | 2 | 12% | 1965 | 3930 |
| 51 | SS Measuring jar - 500 ml | | Nos | 2 | 12% | 890 | 1780 |
| 52 | SS measuring spoon set | | Nos | 2 | 12% | 245 | 490 |
| 53 | SS Milk Ladle-25 inch | | Nos | 2 | 12% | 485 | 970 |
| 54 | SS Mug-10cms | | Nos | 2 | 12% | 175 | 350 |
| 55 | SS Oil Dispenser 500ml | | Nos | 1 | 12% | 585 | 585 |
| 56 | SS Pointed KOT Punch | | Nos | 2 | 12% | 175.5 | 351 |
| 57 | SS Stirrer with coin on both sides | | Nos | 2 | 12% | 220.5 | 441 |
| 58 | SS Tea Strainer Small | | Nos | 2 | 18% | 166.5 | 333 |
| 59 | SS Tongs | | Nos | 4 | 12% | 130.5 | 522 |
| 60 | SS UTF Funnel | | Nos | 2 | 12% | 195 | 390 |
| 61 | SS Whisk | | Nos | 2 | 12% | 595 | 1190 |
| 62 | Subway Squeeze Bottle (16oz) | | Nos | 10 | 12% | 135 | 1350 |
| 63 | Plastic Dustbin-Dumpo Flat Lid-240ltrs | | Nos | 2 | 18% | 4260 | 8520 |
| 64 | Vinod Saucepan with Lid-1.1ltr | | Nos | 2 | 12% | 2860 | 5720 |
| 65 | A4 Standy | | Nos | 2 | 12% | 775 | 1550 |
| 66 | S.S Milk Frothing Jug 350 ml | | Nos | 2 | 12% | 685 | 1330 |
| 67 | Aroma Diffuser 400 ml | | Nos | 1 | 18% | 1450 | 1450 |
| 68 | Black Caddy | | Nos | 2 | 18% | 265 | 530 |
| 69 | Bullet tag holder small | | Nos | 25 | 12% | 95.6 | 2390 |
| 70 | Cer. Broken Plate 10 Rippled | | Nos | 8 | 18% | 295 | 2360 |
| 70 | Anupam Decanter-5ltrs | | Nos | 1 | 18% | 2224 | 2224 |
| 72 | Foot operated sanitizer stand - MS | | Nos | 1 | 18% | 1250 | 1250 |
| 73 | Melamine Bond Platter 7.5 BLK | | Nos | 4 | 18% | 295 | 1180 |
| 74 | Melamine Leaf Platter 11 long (S) Blk | | Nos | 3 | 18% | 335 | 1005 |
| 75 | Melamine Scoop (L) Blk | | Nos | 4 | 18% | 195 | 780 |
| 76 | Melamine Slate Blk | | Nos | 6 | 18% | 580 | 3480 |
| 77 | Pradeep Saucepan 5ltrs | | Nos | 2 | 12% | 5390 | 10780 |
| 78 | S.S GN Pan 1 9 x 150 mm | | Nos | 12 | 12% | 585 | 7020 |
| 79 | Food Tray - Black | | Nos | 25 | 18% | 195 | 4875 |
| 80 | SS Dustbin with Rotating Top | | Nos | 2 | 18% | 2680 | 5360 |
| 81 | Wood Cheese Platter 12 w-dome | | Nos | 2 | 18% | 1680.2 | 3360.4 |
| 82 | Trolley tub - 20 ltrs | | Nos | 1 | 18% | 1640 | 1640 |
| 83 | Bathla 4-Step Handy Ladder | | Nos | 1 | 18% | 5560 | 5560 |
| 84 | Trolley tub - 5 ltrs | | Nos | 1 | 18% | 1287 | 1287 |
| 85 | Bubble Water Can | | Nos | 4 | 18% | 235 | 940 |
| L | | • | | Sub Tota | | | 148967.7 |
| | | | IGST / | SGST / GS | | | 9331.38 |
| | | | | SGST / GS | • | | 12738.55 |
| | | | | ' SGST / GS | • | | 21.83 |
| | | | | RAND TO | | | 171059.451 |
| | | | 0 | | | | 1,1035.451 |

| o. # : 1 | | · · · | | | Currency :I | NR | |
|-----------|---------------------------------------|--|------------|--------------|-------------|----------------|----------------|
| 5. 11 . 1 | | | | | BUDGET | | |
| | | | | | PRICE : | .00 | |
| sr. No. | Item Code | Item Description | Unit | Qty | GST % | Unit Price | Total |
| 1 | | Bar Mat | NOS | 4.00 | | 0 | 0 |
| 2 | | Cartini Fine Dicing Knife-276mm-Green | NOS | 2.00 | 18% | 265 | 530 |
| 3 | | Cartini Fine Dicing Knife-276mm-Red Chiller Thermometer | NOS NOS | 2.00 1.00 | 18% | 265 0 | 530 0 |
| 4 5 | | Dump Box | NOS | 2.00 | 18% | 365 | 730 |
| 6 | | First Aid Kit | NOS | 1.00 | 12% | 1260 | 1260 |
| 7 | | Hand wash dispenser | NOS | 2.00 | 18% | 560 | 1120 |
| 8 | | Hard Brush (Hardy) | NOS | 1.00 | 18% | 151 | 151 |
| 9 | | Infrared Thermometers | NOS | 1.00 | | 0 | 0 |
| 10 | | KOT Railer | NOS | 1.00 | 18% | 450 | 450 |
| 11 | | Probe Thermometer (Pen Type) | NOS | 1.00 | 18% | 280 | 280 |
| 12 | | Sanitizer bottle 500ml with pump | NOS | 2.00 | 18% | 40.5 | 81 |
| 13 | + + + + + + + + + + + + + + + + + + + | Spray Bottle | NOS | 3.00 | 18% | 48.6 | 145.8 |
| 14 | ┨───┤ | Squeeze Bottle-White 36oz | NOS | 6.00 | 18% | 103.5 | 621 |
| 15 16 | ╂───┼ | Tape Dispenser Air tight container - 1600ml | NOS NOS | 1.00 5.00 | 18% 18% | 150 95 | 150 475 |
| 10 | | Air tight container 10 ltrs | NOS | 10.00 | 18% | 180 | 1800 |
| 18 | t 1 | Air tight container 25 ltrs | NOS | 2.00 | 18% | 435 | 870 |
| 19 | | Plastic Storage Container - 4ltrs | NOS | 2.00 | 18% | 335 | 670 |
| 20 | | 28mm Dispenser Pump | NOS | 1.00 | 18% | 16 | 16 |
| 21 | | Aluminum Lemon squeezer | NOS | 1.00 | 12% | 235 | 235 |
| 22 | | Anupam Decanter-10ltrs | NOS | 1.00 | 12% | 3260 | 3260 |
| 23 | | Saucepan Lid-24cms dia (for 5ltrs) | NOS | 2.00 | 12% | 2970 | 5940 |
| 24 | | Saucepan Lid-28cms dia (for 10.5ltrs) | NOS | 3.00 | 12% | 3985 | 11955 |
| 25 26 | <u> </u> | Saucepan-10.5ltrs Bakery Knife-320mm | NOS NOS | 3.00 2.00 | 12% | 0 285 | 0 570 |
| 20 | | Cartini Scissors-165mm | NOS | 2.00 | 12% | 285 | 550 |
| 28 | | Container Lid - 4ltrs (Green) | NOS | 3.00 | 1070 | 0 | 0 |
| 29 | | Container Lid - 4ltrs (Red) | NOS | 3.00 | | 0 | 0 |
| 30 | | copper Ice shaker | NOS | 2.00 | 12% | 575 | 1150 |
| 31 | | Corelle Microwave Bowl | NOS | 4.00 | 18% | 307 | 1228 |
| 32 | | Cutting Board-Green (340X230mm) | NOS | 2.00 | 18% | 245 | 490 |
| 33 | | Cutting Board-Red (340X230mm) | NOS | 2.00 | 18% | 245 | 490 |
| 34 | | Dredger | NOS | 1.00 | 18% | 285 | 285 |
| 35 | + + + + + + + + + + + + + + + + + + + | Ginger Crushing Set-Large | NOS | 1.00 | 12% | 665 | 665 |
| 36 37 | ┨───┤ | Glass container 15 ml Grinder Cleaner | NOS NOS | 1.00 | 18% | 55 0 | 55 0 |
| 38 | | Nonstick Fry Pan 240mm | NOS | 2.00 | 12% | 2115 | 4230 |
| 39 | | Nonstick Fry Pan 280 mm | NOS | 2.00 | 12% | 2304 | 4608 |
| 40 | | Oven Mitts | NOS | 1.00 | 5% | 436.5 | 436.5 |
| 41 | | Peg Cup | NOS | 2.00 | 12% | 86 | 172 |
| 42 | | Plastic swing bins - 80 ltrs | NOS | 2.00 | 18% | 1134 | 2268 |
| 43 | ļļ | Plastic Tea Strainer-Large (22cms) | NOS | 5.00 | 18% | 697.5 | 3487.5 |
| 44 | ┥──┤ | Polycarbonate jar with lid 1000ml | NOS | 4.00 | 18% | 259.2 | 1036.8 |
| 45 | ╂───╂─ | S.S Forceps | NOS | 1.00 | 12% | 193.5 | 193.5 |
| 46 47 | ╉────╂─ | Silicon Spatula - Big Silicon spatula Green | NOS NOS | 2.00 2.00 | 18% 18% | 178.2 178.2 | 356.4 356.4 |
| 47 | ╂───┼ | Silicon Spatula Green | NOS | 2.00 | 18% | 178.2 | 356.4 |
| 49 | <u>} </u> | Squeeze Bottle-Red (12oz) | NOS | 4.00 | 18% | 85 | 340 |
| 50 | | SS canister (TD2) 700ml | NOS | 2.00 | 18% | 395 | 790 |
| 51 | | SS canisters (TD1) | NOS | 5.00 | 12% | 265 | 1325 |
| 52 | | SS container No 13 | NOS | 1.00 | 12% | 320 | 320 |
| 53 | | SS Container-250gms | NOS | 10.00 | 12% | 97.2 | 972 |
| 54 | | SS Ice Scoop | NOS | 1.00 | 12% | 565 | 565 |
| 55 | ļļ | SS Measuring jar - 100 ml | NOS | 3.00 | 12% | 256 | 768 |
| 56 | \vdash | SS Measuring jar - 1000 ml | NOS | 2.00 | 12% | 1160 | 2320 |
| 57 | + | SS Measuring jar - 2000 ml | NOS | 2.00 | 12% | 1965 | 3930 |
| 58 | ╂───╂─ | SS Measuring jar - 500 ml | NOS | 2.00 | 12% | 890 | 1780 |
| 59 | ╉───╁ | SS measuring spoon set SS Milk Ladle-25 inch | NOS | 2.00 | 12% | 245 | 490 |
| 60 | I I | 55 MIIK LAUIE-25 INCH | NOS | 2.00 | 12% | 485 | 970 |

| 62 | SS Oil Dispenser 500ml | NOS | 1.00 | 18% | 585 | 585 |
|----|--|-----|-------|-----|--------|--------|
| 63 | SS Pointed KOT Punch | NOS | 2.00 | 12% | 175.5 | 351 |
| 64 | SS Stirrer with coin on both sides | NOS | 2.00 | 18% | 220.5 | 441 |
| 65 | SS Tea Strainer Small | NOS | 2.00 | 18% | 166.5 | 333 |
| 66 | SS Tongs | NOS | 4.00 | 12% | 130.5 | 522 |
| 67 | SS UTF Funnel | NOS | 2.00 | 12% | 195 | 390 |
| 68 | SS Whisk | NOS | 2.00 | 12% | 595 | 1190 |
| 69 | Subway Squeeze Bottle (16oz) | NOS | 10.00 | 18% | 135 | 1350 |
| 70 | Plastic Dustbin-Dumpo Flat Lid-240ltrs | NOS | 2.00 | 18% | 4260 | 8520 |
| 71 | Vinod Saucepan with Lid-1.1ltr | NOS | 2.00 | 12% | 2860 | 5720 |
| 72 | A4 Standy | NOS | 2.00 | 18% | 775 | 1550 |
| 73 | S.S Milk Frothing Jug 350 ml | NOS | 2.00 | 12% | 685 | 1370 |
| 74 | Aroma Diffuser 400 ml | NOS | 1.00 | 18% | 1450 | 1450 |
| 75 | Black Caddy | NOS | 2.00 | 18% | 265 | 530 |
| 76 | Bullet tag holder small | NOS | 25.00 | 12% | 95.6 | 2390 |
| 77 | Cer. Broken Plate 10 Rippled | NOS | 8.00 | 18% | 295 | 2360 |
| 78 | Anupam Decanter-5ltrs | NOS | 1.00 | 18% | 2224 | 2224 |
| 79 | Foot operated sanitizer stand - MS | NOS | 1.00 | 18% | 1250 | 1250 |
| 80 | Godrej Safe Box | NOS | 1.00 | | 0 | 0 |
| 81 | Melamine Bond Platter 7.5 BLK | NOS | 4.00 | 18% | 295 | 1180 |
| 82 | Melamine Leaf Platter 11 long (S) Blk | NOS | 3.00 | 18% | 335 | 1005 |
| 83 | Melamine Scoop (L) Blk | NOS | 4.00 | 18% | 195 | 780 |
| 84 | Melamine Slate Blk | NOS | 6.00 | 18% | 580 | 3480 |
| 85 | Pradeep Saucepan 5ltrs | NOS | 2.00 | 12% | 5390 | 10780 |
| 86 | S.S GN Pan 1 9 x 150 mm | NOS | 12.00 | 12% | 585 | 7020 |
| 87 | Food Tray - Black | NOS | 25.00 | 18% | 195 | 4875 |
| 88 | SS Dustbin with Rotating Top | NOS | 2.00 | 18% | 2680 | 5360 |
| 89 | Swipe machine holder | NOS | 1.00 | | 0 | 0 |
| 90 | WI Khurpa (M) WH | NOS | 2.00 | | 0 | 0 |
| 91 | Wood Cheese Platter 12 w-dome | NOS | 2.00 | 18% | 1680.2 | 3360.4 |
| 92 | Trolley tub - 20 ltrs | NOS | 1.00 | 18% | 1640 | 1640 |
| 93 | Bathla 4-Step Handy Ladder | NOS | 1.00 | 18% | 5560 | 5560 |
| 94 | Trolley tub - 5 ltrs | NOS | 1.00 | 18% | 1287 | 1287 |
| 95 | Cup Holder for V2 | NOS | 1.00 | | 0 | 0 |
| 96 | Bubble Water Can | NOS | 4.00 | 18% | 235 | 940 |
| • | Item Total | • | • | • | • | 148962 |

SINGLE VENDOR DECLARATION PO No: GMR/PO/23-24/000030 Date: 26-03-2024 GMR/PO/23-24/000029 GMR/PO/23-24/000028 Vendor Name : Krishna Office Solutions Product Description: SOE, HR & Unit / Project Name: HYD Chai Point D 005/FF 26/FF 052b Uniforms Work Justification: Only known supplier. (List of the suppliers which were contacted below and the specific reasons why each was not a viable source). Specific material procured by HYD Only known qualified supplier or item. (List the qualifications Chai Point that each source or items meet. If another supplier offers a similar item, provide the item identification, supplier information and comparable pricing). Supplier proprietary item. (The selected supplier is the only manufacturer of this item. List the reasons why no substitute item can be used and if no similar item is available). Franchise / Management / User Dept Directed. (Provide a copy of letter, or memo or e-mail specifically directing this source) Item / Rate Contracted. (Provide copy of the contract / agreement)As per urgent requriment by team negotiated with best rate and released order for the same. Santosh Sawant Approved By Lovejot Sekhon

